District School Board of Pasco County Bid Recommendation

Bid Title	Grounds Maintenance – JWMHS & SSMS – Maintenance	Number of Vendors Notified	168
Bid Number	10-033-GF	Number of Bids Distributed	22
Date Solicited	June 2, 2009	Number of Vendors Bidding	12
Date Opened	July 8, 2009	Number of "No Bid" Responses	10
Date Board Presentation	August 18, 2009	Funding Source	General
Total Savings	\$38,798.43	Grand Total of Bid	\$81,900.00 Estimate

<u>Recommendation</u>: Recommend acceptance of bid as noted on attached bid tabulation sheet as lowest and best responsive, responsible bid from Creative Curbing & Moore, Inc. meeting written specifications.

<u>Term of Contract</u>: This bid is for grounds maintenance at J. W. Mitchell High & Seven Springs Middle Schools. Grand total is an estimate only, unit prices will prevail. This is the first year of a three-year bid renewable annually by mutual consent of both parties. The first year contract period is August 25, 2009 through August 24, 2010.

<u>Notations and Exceptions</u>: Recommend rejection of low bid from Capital Land Management for failure to provide references regarding the company's ability to provide services as required in the bid documents.

Savings determined by averaging all non-awarded vendor prices and subtracting from recommended vendor's pricing.

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By: Edward Flicker, Custodial Coordinator

Bids Prepared By: Gail Fowler, CPPB, Buyer

Reviewed and Authorized By: Kendra D. Goodman, CPPB, Purchasing Agent

DATE/TIME: August 12, 2009 11:40:00

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DID ITTEE.	: GROUNDS MAINTENANCE - JWMHS & SSMS	8610 Jolly Roge	Service, Inc.	All-Star Landsc 62 Beverly Hill		9830 Yawn Ro		Central Florida I 6109 Orient Rd.		Creative Curbing of 10301 Pontofino C	
BID #: 10-0		Hudson, FL 346		Beverly Hills, F		Dade City, FL		Tampa, FL 3361		Trinity, FL 34655	heie
DID #. 10-0	755-01	Trudson, TE 340	JO 1	Beverry IIIIIs, I	L 34403	Dade City, I L	33323	Tampa, TE 3301	0	11111ty, 1 L 34033	
ITEM# D	DESCRIPTION	LINIT PRICE	TOTAL PRICE	LINIT PRICE	TOTAL PRICE	LINIT PRICE	TOTAL PRICE	LINIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		OMITIMEL	TOTALTRICE	OMITIMEL	TOTALTRICE	ONTTRICE	TOTALTRICE	CIVITIRICE	TOTALTRICE	ONTTRICE	TOTALTRICL
P.	ART A										
G	ROUNDS MAINTENANCE - JWMHS										
N	Mowing, Weeding & String Trimming 38	100.00	3800.00	600.00	22,800.00	560.00		516.75	19,636.50	700.00	26,600.00
E	dging 38	INCLUDED	INCLUDED	150.00	5,700.00	INCLUDED	INCLUDED	103.50	3,933.00	100.00	3,800.00
Н	ledge Trimming (annual basis) 1	2060.00	24720.00	500.00	6,000.00	INCLUDED	INCLUDED	9,419.00	9,419.00	1,200.00	1,200.00
	runing (Palms) 2	800.00	1600.00	500.00	1.000.00	4,365.00	8,730.00	884.00	1,768.00	1,000.00	1,000.00
	runing (non-Palms) 1	500.00	500.00	400.00				600.00	600.00	100.00	100.00
	fulching 2	3500.00	7000.00	2,800.00		5,054.00			6,720.00	1,000.00	2,000.00
	GRAND TOTAL	3300.00	37,620.00	2,000.00	41,500.00	3,03 1.00	40.118.00		42,076.50	1,000.00	34,700.00
	IKAND TOTAL		37,020.00		41,500.00		40,116.00		42,070.30		34,700.00
1	DDITIONAL MILICIL DED CUDIC VADO DDICE.		40.00		50.00		40.00		43.00		50.00
A	DDITIONAL MULCH: PER CUBIC YARD PRICE:		40.00		50.00		40.00		42.00		50.00
	01 1017 11' 4						100				
11	0' x 10' Bedding Area:		50.00		50.00		100.00		50.00		50.00
G	ROUNDS MAINTENANCE - SSMS										
N	Nowing, Weeding & String Trimming 38	100.00	3,800.00	375.00	14,250.00	461.68	17,543.84	439.00	16,682.00	500.00	19,000.00
Е	dging 38	INCLUDED	INCLUDED	125.00	4,750.00	INCLUDED	INCLUDED	77.50	2,945.00	50.00	1,900.00
	ledge Trimming (annual basis) 1	25,200.00	25,200.00	500.00				7,353.00	7,353.00	50.00	50.00
	runing (Palms) 2	2,400.00	4,800.00						3,401.50	400.00	800.00
	runing (non-Palms)	500.00	500.00	400.00				600.00	600.00	50.00	50.00
	fulching 2	3,500.00	7,000.00			5,054.00			5,040.00	200.00	400.00
IV	Turching 2	3,300.00	7,000.00	2,800.00	3,000.00	3,034.00	10,108.00	2,320.00	3,040.00	200.00	400.00
	ID AND TOTAL		41 200 00		22 400 00		21.001.04		26 021 50		22 200 00
G	RAND TOTAL		41,300.00		33,400.00		31,881.84		36,021.50		22,200.00
A	DDITIONAL MULCH: PER CUBIC YARD PRICE:		40.00		50.00		40.00		42.00		50.00
1	0' x 10' Bedding Area:		50.00		50.00		100.00		50.00		50.00
T.	OTAL DID DDICE FOR DART A. INVALIG & COMO		78.920.00		74,900.00		71,999.84		78,098.00		56,000,00
1	OTAL BID PRICE FOR PART A: JWMHS & SSMS		/8,920.00		/4,900.00		/1,999.84		/8,098.00		56,900.00
P.	ART B - RETENTION PONDS										
1) N	Now, trim and weed retention ponds #1, 2, 8 &9	500.00	12,500.00	400.00	10,000.00	160.00	4,000.00	400.00	10,000.00	500.00	12,500.00
	s part of the J/W/ Mitchell campus (for payment		,		.,		,,		.,		,,.
	urposes only (25)			ĺ							
F	······································										
2) 1	Now, trim and weed retention ponds #3, 4, 5, 6 & 7	500.00	12,500.00	400.00	10,000.00	160.00	4,000.00	300.00	7,500.00	500.00	12,500.00
	is part of the Seven Springs Middle campus (for	300.00	12,500.00	400.00	10,000.00	100.00	4,000.00	300.00	7,500.00	300.00	12,300.00
p	ayment purposes only (25)				-						
	OTHER DESIGNATION OF STREET AND DESIGNATION OF STREET		25.000.00		20.000.00		0.000.00		15 500 00		25.000.00
Т	OTAL BID PRICE FOR PART B ALL RETENTION PONDS:		25,000.00		20,000.00		8,000.00		17,500.00		25,000.00
	rice for any retention pond bottom dry		500.00		50.00		Included Above		350.00		500.00
eı	nough to be mowed with conventional mowing										
e	quipment.										
G	RAND TOTAL BID PRICE FOR PART A AND PART B:		103,920.00		94,900.00		79,999.84		95,598.00		81,900.00
, 101			, 0	1	,		,		,		3-,- 0.000

DISTRICT SCHOOL BOARD OF PASCO COUNTY BID TABULATION

DATE OF	OPENING: JULY 8, 2009 2:30 PM	GMJ Services		Green Expectations Lan	dscaping	The Lawn & Land	scaping Professionals	NDL, LLC	
BID TITLE: GROUNDS MAINTENANCE - JWMHS & SSMS		17633 Gunn Hwy #236		31536 Stirrup Lane		P.O. Box 5293		P.O. Box 1678	
BID #: 10-033-GF		Odessa, FL 33556		Wesley Chapel, FL 33543		Hudson, FL 34674		Lutz, FL 33548	
ITEM #	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
	PART A								
	GROUNDS MAINTENANCE - JWMHS								
	one of the many territory of the second of t								
	Mowing, Weeding & String Trimming 38	400.00	15,200.00	600.00	22,800.00			900.00	34,200.00
	Edging 38	50.00			19.000.00			150.00	5.700.00
	Hedge Trimming (annual basis) 1	18,000.00			30,000.00			1.200.00	1,200.00
	Pruning (Palms) 2	200.00						750.00	1,500.00
	Pruning (non-Palms) 1		NO CHARGE	NO CHARGE	NO CHARGE			750.00	750.00
	Mulching 2	1,500.00	3,000.00					10,000.00	20,000.00
	GRAND TOTAL	1,500.00	38,500.00		83,800.00		96,801.00	10,000.00	63,350.00
	GREEN TOTAL		30,300.00		05,000.00		70,001.00		05,550.00
	ADDITIONAL MULCH: PER CUBIC YARD PRICE:		50.00		35.00	NB	NB		45.00
	ADDITIONAL MODELLI ER CODIC TIRD I RICE.		20.00		33.00	1112	TIE		13.00
	10' x 10' Bedding Area:		40.00		35.00	NB	NB		75.00
			10.00		33.00		.,,,		75.00
	GROUNDS MAINTENANCE - SSMS								
	GROOTIDS MEMITIENTICE SOMS								
	Mowing, Weeding & String Trimming 38	400.00	15,200.00	100.00	3,800.00			850.00	32,300.00
	Edging 38	50.00	1.900.00		1.900.00			100.00	3,800.00
	Hedge Trimming (annual basis) 1	18,000.00	,		12,000.00			1,200.00	1,200.00
	Pruning (Palms) 2	200.00						750.00	1,500.00
	Pruning (non-Palms) 1		NO CHARGE	NO CHARGE	NO CHARGE			750.00	750.00
	Mulching 2	1,500.00	3,000.00					10,000.00	20,000.00
	With Ching 2	1,500.00	3,000.00	300.00	1,000.00			10,000.00	20,000.00
	GRAND TOTAL		38,500.00		20,700.00		96,801.00		59,550.00
	GREAT TOTAL		30,300.00		20,700.00		70,001.00		37,330.00
	ADDITIONAL MULCH: PER CUBIC YARD PRICE:		50.00		35.00	NB	NB		45.00
	TIDDITIONAL MCEETI. TER COBIC TIRED TRICE.		50.00		33.00	TUD	TUB		15.00
	10' x 10' Bedding Area:		40.00		35.00	NB	NB		75.00
	10 x 10 Bedding ricu.		10.00		33.00	TUD	TUB		75.00
	TOTAL BID PRICE FOR PART A: JWMHS & SSMS		77,000.00		104,500.00		193,602.00		122,900.00
	PART B - RETENTION PONDS								
1)	Mow, trim and weed retention ponds #1, 2, 8 &9	200.00	5,000.00	100.00	2,500.00	920.00	23,000.00	960.00	24,000.00
	as part of the J/W/Mitchell campus (for payment								
	purposes only (25)								
2)	Mow, trim and weed retention ponds #3, 4, 5, 6 & 7	200.00	5,000.00	100.00	2,500.00	920.00	23,000.00	960.00	24,000.00
	as part of the Seven Springs Middle campus (for								
	payment purposes only (25)								
	TOTAL BID PRICE FOR PART B ALL RETENTION PONDS:		10,000.00		5,000.00		46,000.00		48,000.00
	Price for any retention pond bottom dry		100.00		75.00		50.00		500.00
	enough to be mowed with conventional mowing						Per hour for		
	equipment.						labor and machine		
							coverage		
	GRAND TOTAL BID PRICE FOR PART A AND PART B:		87,000.00		109,500.00		239,602.00		170,900.00
									

DATE OF OPENING: JULY 8, 2009 2:30 PM		Raymow Enter		W & B Maintena		Your Environmental Solutions		
BID TITLE: GROUNDS MAINTENANCE - JWMHS & SSMS BID #: 10-033-GF		101 Dunbar Av		1114 Sugartree D		36707 Laurel Oaks Ln.		
BID #: 10	0-033-GF	Oldsmar, FL 34	1677	Lakeland, FL 338	313	Dade City, FL 33	525	
**************************************	P. P. G. GD. VIII. CO. V.	I I I I I I I I I I I I I I I I I I I	momer paran		momit paren		momer paran	
ITEM#	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
	PART A							
	GROUNDS MAINTENANCE - JWMHS							
	Mowing, Weeding & String Trimming 38	525.00	19,950.00	1,010.00	38,380.00	543.34	20,646.92	
	Edging 38	81.00	3,078.00	150.00	5,700.00	250.00	9,500.00	
	Hedge Trimming (annual basis) 1	6,480.00	6,480.00	1,200.00	1,200.00	7,500.00	7,500.00	
	Pruning (Palms) 2	1,920.00	3,840.00	250.00	500.00	1,000.00	2,000.00	
	Pruning (non-Palms) 1	1,296.00	1,296.00	1,000.00	1,000.00	1,000.00	1,000.00	
	Mulching 2	5,000.00	10,000.00	2,500.00	5,000.00	6,833.33	13,666.66	
	GRAND TOTAL	,,,,,,,,,	44,644.00	_,,	51,780.00	0,000.00	54,313.58	
	Old II D To II D		,		21,700.00		0 1,515.00	
	ADDITIONAL MULCH: PER CUBIC YARD PRICE:		40.00		60.00		39.00	
	ADDITIONAL MOLCH, LER CODIC TARD FRICE.		40.00		00.00		37.00	
	10' x 10' Bedding Area:		24.00		100.00		100.00	
	10 X 10 Dedding rice.		24.00		100.00		100.00	
	GROUNDS MAINTENANCE - SSMS							
	OROUNDS MAINTENANCE - SSMS							
	Mowing, Weeding & String Trimming 38	525.00	19,950.00	925.00	35,150.00	276.32	10,500.16	
				100.00	3,130.00			
		84.00	3,192.00		- ,	145.00		
	Hedge Trimming (annual basis) 1	5,400.00	5,400.00	1,200.00	1,200.00		1,490.00	
	Pruning (Palms) 2	1,160.00	2,320.00					
	Pruning (non-Palms) 1	1,080.00	1,080.00	1,000.00	1,000.00	1,000.00	1,000.00	
	Mulching 2	5,000.00	10,000.00	2,250.00	4,500.00	3,916.66	7,833.32	
	OR LAVE MODILY		44.040.00		460.000		20.222.40	
	GRAND TOTAL		41,942.00		46,050.00		28,333.48	
	ADDITIONAL MULCH: PER CUBIC YARD PRICE:		40.00		55.00		39.00	
	10' x 10' Bedding Area:		24.00		100.00		100.00	
	TOTAL BID PRICE FOR PART A: JWMHS & SSMS		86,586.00		97,830.00		82,647.06	
	TO THE BID TRICE FOR THIRT II. SWIMING & SOME		00,500.00		77,030.00		02,017.00	
	DART D. RETEXITION BONDS							
-	PART B - RETENTION PONDS							
**	M (1 1 1 (1 1 1 2 0 0 0 0	204.00	0.600.00	1 000 00	25.000.00	100.00	2.500.00	
1)	Mow, trim and weed retention ponds #1, 2, 8 &9	384.00	9,600.00	1,000.00	25,000.00	100.00	2,500.00	
<u> </u>	as part of the J/W/ Mitchell campus (for payment	1						
	purposes only (25)	1						
		1						
2)	Mow, trim and weed retention ponds #3, 4, 5, 6 & 7	384.00	9,600.00	1,200.00	30,000.00	100.00	2,500.00	
	as part of the Seven Springs Middle campus (for							
	payment purposes only (25)							
	TOTAL BID PRICE FOR PART B ALL RETENTION PONDS:		19,200.00		55,000.00		5,000.00	
	Price for any retention pond bottom dry		120.00		300.00		25.00	
	enough to be mowed with conventional mowing							
	equipment.							
	GRAND TOTAL BID PRICE FOR PART A AND PART B:		105,786.00		152,830.00		87,647.06	
			,		,		.,	